

## Research Article

Taekyun Kim\*, Dae San Kim, and Hye Kyung Kim

# Normal ordering associated with $\lambda$ -Stirling numbers in $\lambda$ -shift algebra

<https://doi.org/10.1515/dema-2022-0250>

received March 1, 2023; accepted May 16, 2023

**Abstract:** It is known that the Stirling numbers of the second kind are related to normal ordering in the Weyl algebra, while the unsigned Stirling numbers of the first kind are related to normal ordering in the shift algebra. Recently, Kim-Kim introduced a  $\lambda$ -analogue of the unsigned Stirling numbers of the first kind and that of the  $r$ -Stirling numbers of the first kind. In this article, we introduce a  $\lambda$ -analogue of the shift algebra (called  $\lambda$ -shift algebra) and investigate normal ordering in the  $\lambda$ -shift algebra. From the normal ordering in the  $\lambda$ -shift algebra, we derive some identities about the  $\lambda$ -analogue of the unsigned Stirling numbers of the first kind.

**Keywords:**  $\lambda$ -shift algebra, normal ordering, unsigned  $\lambda$ -Stirling numbers of the first kind,  $\lambda$ - $r$ -Stirling numbers of the first kind

**MSC 2020:** 11B73, 11B83

## 1 Introduction

The Stirling number of the first kind  $S_1(n, k)$  is defined in such a way that the unsigned Stirling number of the first kind  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right] = (-1)^{n-k} S_1(n, k)$  enumerates the number of permutations of the set  $[n] = \{1, 2, 3, \dots, n\}$ , which are the products of  $k$  disjoint cycles.

The unsigned  $r$ -Stirling number of the first kind  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right]_r$  is the number of permutations of  $[n]$  with exactly  $k$  disjoint cycles in such a way that the numbers  $1, 2, \dots, r$  are in distinct cycles.

In [1], Kim and Kim introduced a  $\lambda$ -analogue of the unsigned Stirling numbers of the first kind  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right]_\lambda$  and that of the unsigned  $r$ -Stirling numbers of the first kind  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right]_{r,\lambda}$ , respectively, as a  $\lambda$ -analogue of  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right]$  and that of  $\left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right]_r$  (see (8) and (9)).

The Stirling numbers of the second kind appear as the coefficients in the normal ordering of the Weyl algebra (see (10) and (11)), while the unsigned Stirling numbers of the first kind appear as those of the shift algebra  $S$  (see (12) and (13)).

The aim of this article is to introduce the  $\lambda$ -shift algebra  $S_\lambda$  (for any  $\lambda \in \mathbb{C}$ ), which is a  $\lambda$ -analogue of  $S$  (see (14)), and to investigate the normal ordering of the  $\lambda$ -shift algebra. In addition, from the normal ordering of the  $\lambda$ -shift algebra  $S_\lambda$ , we derive some identities about the unsigned  $\lambda$ -Stirling numbers of the first kind.

\* **Corresponding author: Taekyun Kim**, Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea, e-mail: [tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr)

**Dae San Kim:** Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea, e-mail: [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr)

**Hye Kyung Kim:** Department of Mathematics Education, Daegu Catholic University, Gyeongsan 38430, Republic of Korea, e-mail: [hkkim@cu.ac.kr](mailto:hkkim@cu.ac.kr)

The outline of this article is as follows. In Section 1, we recall the  $\lambda$ -falling factorial numbers, the falling factorial numbers, the  $\lambda$ -rising factorial numbers, and the rising factorial numbers. We remind the reader of the unsigned  $\lambda$ -Stirling numbers of the first kind and the  $\lambda$ - $r$ -Stirling numbers of the first kind. We recall the Weyl algebra and the normal ordering result in that algebra. We remind the reader of the shift algebra and the normal ordering result in that algebra. Finally, we define the  $\lambda$ -shift algebra as a  $\lambda$ -analogue of the shift algebra. Section 2 is the main result of this article. We derive normal ordering results in  $S_\lambda$  in Theorems 1 and 2, where  $\begin{bmatrix} n \\ k \end{bmatrix}_\lambda$  and  $\begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda}$  appear, respectively, as their coefficients. We obtain three other normal ordering results in Theorem 3. In Theorem 4, we obtain a recurrence relation for the unsigned  $\lambda$ -Stirling numbers of the first kind. In Theorem 6, we obtain another expression of the defining equation in (8) in terms of the  $\lambda$ -shift operator (see (30)). In Theorem 7, we show a  $\lambda$ -analogue of the dual to Spivey's identity (see Remark 8). Finally, we conclude this article in Section 3. For the rest of section, we recall what are needed throughout this article.

For any  $\lambda \in \mathbb{C}$ , the  $\lambda$ -falling factorial sequence is defined by:

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda)\cdots(x-(n-1)\lambda), \quad (n \geq 1) \text{ (see [1,2])}. \quad (1)$$

In particular, the falling factorial sequence is given by:

$$(x)_0 = 1, \quad (x)_n = x(x-1)\cdots(x-(n-1)), \quad (n \geq 1). \quad (2)$$

Note that  $\lim_{\lambda \rightarrow 1}(x)_{n,\lambda} = (x)_n$ .

For any  $\lambda \in \mathbb{C}$ , the  $\lambda$ -rising factorial sequence is defined by:

$$\langle x \rangle_{0,\lambda} = 1, \quad \langle x \rangle_{n,\lambda} = x(x+\lambda)\cdots(x+(n-1)\lambda), \quad (n \geq 1) \text{ (see [1,2])}. \quad (3)$$

Especially, the rising factorial sequence is given by:

$$\langle x \rangle_0 = 1, \quad \langle x \rangle_n = x(x+1)\cdots(x+(n-1)), \quad (n \geq 1). \quad (4)$$

Observe that  $\lim_{\lambda \rightarrow 1}\langle x \rangle_{n,\lambda} = \langle x \rangle_n$ .

With the notation in (2), the Stirling numbers of the first kind are defined by:

$$(x)_n = \sum_{k=0}^n S_1(n, k)x^k, \quad (n \geq 0) \text{ (see [3–6])}. \quad (5)$$

In addition, the unsigned Stirling numbers of the first kind are given by  $\begin{bmatrix} n \\ k \end{bmatrix} = (-1)^{n-k}S_1(n, k)$ ,  $(n, k \geq 0)$ .

The Stirling numbers of the second kind are defined by:

$$x^n = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\} (x)_k, \quad (n \geq 0). \quad (6)$$

Recently, with the notation in (1), the  $\lambda$ -Stirling numbers of the first kind, which are  $\lambda$ -analogues of the Stirling numbers of the first kind, are defined by:

$$(x)_{n,\lambda} = \sum_{k=0}^n S_{1,\lambda}(n, k)x^k, \quad (n \geq 0) \text{ (see [1])}. \quad (7)$$

In addition, with the notation in (3) the unsigned  $\lambda$ -Stirling numbers of the first kind are defined by:

$$\langle x \rangle_{n,\lambda} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^k, \quad (n \geq 0) \text{ (see [1])}. \quad (8)$$

Note that  $\lim_{\lambda \rightarrow 1}S_{1,\lambda}(n, k) = S_1(n, k)$  (see (5));  $\lim_{\lambda \rightarrow 1}\begin{bmatrix} n \\ k \end{bmatrix}_\lambda = \begin{bmatrix} n \\ k \end{bmatrix}$ .

For  $r \in \mathbb{N} \cup \{0\}$ , the  $\lambda$ - $r$ -Stirling numbers of the first kind, which are  $\lambda$ -analogues of the  $r$ -Stirling numbers of the first kind, are defined by:

$$\langle x+r \rangle_{n,\lambda} = \sum_{k=0}^n \begin{bmatrix} n+r \\ k+r \end{bmatrix}_{r,\lambda} x^k, \quad (n \geq 0) \text{ (see [1])}. \quad (9)$$

Note that  $\lim_{\lambda \rightarrow 1} \left[ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]_{r,\lambda} = \left[ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]$ , where  $\left[ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]$  are the  $r$ -Stirling numbers of the first kind, which are introduced by Broder (see [7]) and given by (see (4))

$$\langle x+r \rangle_n = \sum_{k=0}^n \left[ \begin{smallmatrix} n+r \\ k+r \end{smallmatrix} \right]_r x^k, \quad (n \geq 0).$$

The Weyl algebra is the unital algebra generated by letters  $a$  and  $a^\dagger$  satisfying the following commutation relation:

$$aa^\dagger - a^\dagger a = 1 \quad (\text{see [1,5,8–23]}). \quad (10)$$

Katriel proved that the normal ordering in Weyl algebra is given by (see (6))

$$(a^\dagger a)^n = \sum_{k=0}^n \left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\} (a^\dagger)^k a^k \quad (\text{see [10,11,12]}). \quad (11)$$

From the definition of the Stirling numbers of the second kind and (11), we note that

$$(a^\dagger)^n a^n = (a^\dagger a)_n = a^\dagger a (a^\dagger a - 1) \cdots (a^\dagger a - n + 1), \quad (n \geq 1).$$

The shift algebra  $S$  is defined as the complex unital algebra generated by  $a$  and  $a^\dagger$  satisfying the following commutation relation:

$$aa^\dagger - a^\dagger a = a \quad (\text{see [22]}). \quad (12)$$

A word in  $S$  is said to be in normal-ordered form if all letters  $a$  stand to the right of all letters  $a^\dagger$ .

From (12), we note that the normal ordering in the shift algebra  $S$  is given by (see (11))

$$(a^\dagger a)^n = \sum_{k=0}^n \left[ \begin{smallmatrix} n \\ k \end{smallmatrix} \right] (a^\dagger)^k a^n \quad (\text{see [22]}). \quad (13)$$

For any  $\lambda \in \mathbb{C}$ , we consider a  $\lambda$ -analogue of the shift algebra  $S$ , which is defined as the complex unital algebra generated by  $a$  and  $a^\dagger$  satisfying the following commutation relation (see (12))

$$aa^\dagger - a^\dagger a = \lambda a. \quad (14)$$

The  $\lambda$ -analogue of the shift algebra  $S$  is called the  $\lambda$ -shift algebra and denoted by  $S_\lambda$ .

## 2 $\lambda$ -analogues of normal ordering in the $\lambda$ -shift algebra

Let  $S_\lambda$  be the  $\lambda$ -shift algebra defined in (14). A word in  $S_\lambda$  is said to be in normal-ordered form if all letters  $a$  stand to the right of all letters  $a^\dagger$ .

In  $S_\lambda$ , by (14), we obtain

$$\begin{aligned} (a^\dagger a)^2 &= (a^\dagger a)(a^\dagger a) = a^\dagger(aa^\dagger)a = a^\dagger(\lambda a + a^\dagger a)a = a^\dagger(\lambda + a^\dagger)a^2 = \langle a^\dagger \rangle_{2,\lambda} a^2, \\ (a^\dagger a)^3 &= (a^\dagger a)(a^\dagger a)(a^\dagger a) = a^\dagger(aa^\dagger)(aa^\dagger)a \\ &= a^\dagger(\lambda + a^\dagger)a(\lambda + a^\dagger)a^2 = a^\dagger(\lambda + a^\dagger)(a\lambda + aa^\dagger)a^2 \\ &= a^\dagger(\lambda + a^\dagger)(2\lambda a + a^\dagger a)a^2 = a^\dagger(a^\dagger + \lambda)(a^\dagger + 2\lambda)a^3 \\ &= \langle a^\dagger \rangle_{3,\lambda} a^3. \end{aligned}$$

Continuing this process, we have

$$(a^\dagger a)^n = \langle a^\dagger \rangle_{n,\lambda} a^n, \quad (n \geq 1). \quad (15)$$

Thus, by (8) and (15), we obtain (see (7), (11), (13))

$$(a^\dagger a)^n = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda (a^\dagger)^k a^n. \quad (16)$$

Therefore, by (16), we obtain the following theorem.

**Theorem 1.** In  $S_\lambda$ , the unsigned  $\lambda$ -Stirling numbers of the first kind appear as the coefficients of  $(a^\dagger a)^n$  in normal-ordered form, as it is given by:

$$(a^\dagger a)^n = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda (a^\dagger)^k a^n.$$

For  $r \geq 0$ , by (14), we obtain

$$\begin{aligned} ((a^\dagger + r)a)^2 &= ((a^\dagger + r)a)((a^\dagger + r)a) = (a^\dagger + r)(aa^\dagger + ra)a \\ &= (a^\dagger + r)(a^\dagger a + \lambda a + ra)a = (a^\dagger + r)(a^\dagger + r + \lambda)a^2 \\ &= \langle a^\dagger + r \rangle_{2,\lambda} a^2 \end{aligned}$$

and

$$\begin{aligned} ((a^\dagger + r)a)^3 &= ((a^\dagger + r)a)((a^\dagger + r)a)((a^\dagger + r)a) \\ &= (a^\dagger + r)a(a^\dagger + r)(\lambda + r + a^\dagger)a^2 \\ &= (a^\dagger + r)(\lambda + r + a^\dagger)a(\lambda + r + a^\dagger)a^2 \\ &= (a^\dagger + r)(a^\dagger + r + \lambda)(\lambda a + ra + aa^\dagger)a^2 \\ &= (a^\dagger + r)(a^\dagger + r + \lambda)(a^\dagger + r + 2\lambda)a^3 = \langle a^\dagger + r \rangle_{3,\lambda} a^3. \end{aligned}$$

Continuing this process, we have

$$((a^\dagger + r)a)^n = \langle a^\dagger + r \rangle_{n,\lambda} a^n, \quad (n \geq 1). \quad (17)$$

From (9) and (17), we obtain

$$((a^\dagger + r)a)^n = \langle a^\dagger + r \rangle_{n,\lambda} a^n = \sum_{k=0}^n \left[ \begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} (a^\dagger)^k a^n. \quad (18)$$

Therefore, by (18), we obtain the following theorem.

**Theorem 2.** Let  $r$  be a non-negative integer. In  $S_\lambda$ , the  $\lambda$ - $r$ -Stirling numbers of the first kind appear as the coefficients of  $((a^\dagger + r)a)^n$  in the normal-ordered form, as it is given by:

$$((a^\dagger + r)a)^n = \sum_{k=0}^n \left[ \begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} (a^\dagger)^k a^n.$$

From (14), we note that

$$\begin{aligned} a^m a^\dagger &= a^{m-1}(aa^\dagger) = a^{m-1}(a^\dagger + \lambda)a \\ &= (a^{m-1}a^\dagger)a + \lambda a^m = a^{m-2}(a^\dagger a + \lambda a)a + \lambda a^m \\ &= (a^{m-2}a^\dagger)a^2 + 2\lambda a^m = \dots = (a^\dagger + m\lambda)a^m \end{aligned} \quad (19)$$

and

$$\begin{aligned} a(a^\dagger)^n &= (aa^\dagger)(a^\dagger)^{n-1} = (\lambda + a^\dagger)a(a^\dagger)^{n-1} \\ &= (\lambda + a^\dagger)(aa^\dagger)(a^\dagger)^{n-2} = (\lambda + a^\dagger)^2 a(a^\dagger)^{n-2} = \dots \\ &= (\lambda + a^\dagger)^{n-1} aa^\dagger = (\lambda + a^\dagger)^n a. \end{aligned} \quad (20)$$

By (19), we obtain

$$\begin{aligned}
a^m(a^\dagger)^n &= (a^m a^\dagger)(a^\dagger)^{n-1} = (a^\dagger + m\lambda)a^m(a^\dagger)^{n-1} \\
&= (a^\dagger + m\lambda)(a^m a^\dagger)(a^\dagger)^{n-2} = (a^\dagger + m\lambda)(a^\dagger + m\lambda)a^m(a^\dagger)^{n-2} \\
&= \cdots = (a^\dagger + m\lambda)^n a^m.
\end{aligned} \tag{21}$$

Therefore, by (19), (20), and (21), we obtain the following theorem.

**Theorem 3.** For  $m, n \in \mathbb{N}$  and  $\lambda \neq 0$ , we have in  $S_\lambda$  the normal orderings given by:

$$a^m a^\dagger = (a^\dagger + m\lambda)a^m, \quad a(a^\dagger)^n = (a^\dagger + \lambda)^n a, \quad a^m(a^\dagger)^n = (a^\dagger + m\lambda)^n a^m.$$

Now, we observe from Theorem 3 that

$$\begin{aligned}
(a^\dagger a)^{n+1} &= (a^\dagger a)(a^\dagger a)^n = a^\dagger a \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda (a^\dagger)^k a^n \\
&= a^\dagger \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda a(a^\dagger)^k a^n = a^\dagger \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda (\lambda + a^\dagger)^k a a^n \\
&= a^\dagger \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \sum_{j=0}^k \binom{k}{j} \lambda^{k-j} (a^\dagger)^j a^{n+1} \\
&= \sum_{j=0}^n \sum_{k=j}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \binom{k}{j} \lambda^{k-j} (a^\dagger)^{j+1} a^{n+1} \\
&= \sum_{j=1}^{n+1} \left( \sum_{k=j-1}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \binom{k}{j-1} \lambda^{k+1-j} \right) (a^\dagger)^j a^{n+1}.
\end{aligned} \tag{22}$$

On the other hand, by Theorem 1, we obtain

$$(a^\dagger a)^{n+1} = \sum_{j=0}^{n+1} \begin{bmatrix} n+1 \\ j \end{bmatrix}_\lambda (a^\dagger)^j a^{n+1} = \sum_{j=1}^{n+1} \begin{bmatrix} n+1 \\ j \end{bmatrix}_\lambda (a^\dagger)^j a^{n+1}. \tag{23}$$

Therefore, by (22) and (23), we obtain the following theorem.

**Theorem 4.** Let  $n, j \in \mathbb{Z}$  with  $n \geq 0$  and  $j \geq 1$ . In  $S_\lambda$ , the unsigned  $\lambda$ -Stirling numbers of the first kind satisfy the following recurrence relation:

$$\begin{bmatrix} n+1 \\ j \end{bmatrix}_\lambda = \sum_{k=j-1}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \binom{k}{j-1} \lambda^{k+1-j} = \begin{bmatrix} n \\ j-1 \end{bmatrix}_\lambda + \sum_{k=j}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \binom{k}{j-1} \lambda^{k+1-j}.$$

For  $n \geq 1$ , by (15) and (17), we have the  $\lambda$ -analogues of Boole's relations in the  $\lambda$ -shift algebra given by:

$$(a^\dagger a)^n = \langle a^\dagger \rangle_{n,\lambda} a^n, \quad ((a^\dagger + r)a)^n = \langle a^\dagger + r \rangle_{n,\lambda} a^n.$$

Now, we define the  $\lambda$ -analogues of  $n!$  as (see (8))

$$(0)_\lambda! = 1, \quad (n)_\lambda! = \langle 1 \rangle_{n,\lambda} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda, \quad (n \geq 1). \tag{24}$$

Note that  $\lim_{\lambda \rightarrow 1} (n)_\lambda! = n!$ .

From (8) and (9), we note that

$$\frac{1}{k!} \left( -\frac{\log(1-\lambda t)}{\lambda} \right)^k = \sum_{n=k}^{\infty} \begin{bmatrix} n \\ k \end{bmatrix}_\lambda \frac{t^n}{n!} \tag{25}$$

and

$$\frac{1}{k!} \left( -\frac{\log(1-\lambda t)}{\lambda} \right)^k \left( \frac{1}{1-\lambda t} \right)^{\frac{t}{\lambda}} = \sum_{n=k}^{\infty} \left[ \begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} \frac{t^n}{n!}, \quad (26)$$

where  $k$  is a non-negative integer.

Thus, by (25) and (26), we obtain

$$\begin{aligned} \sum_{n=k}^{\infty} \left[ \begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{1,\lambda} \frac{t^n}{n!} &= \left( \frac{1}{1-\lambda t} \right)^{\frac{1}{\lambda}} \frac{1}{k!} \left( -\frac{1}{\lambda} \log(1-\lambda t) \right)^k \\ &= \sum_{l=0}^{\infty} \frac{\langle 1 \rangle_{l,\lambda}}{l!} t^l \sum_{m=k}^{\infty} \left[ \begin{matrix} m \\ k \end{matrix} \right]_{\lambda} \frac{t^m}{m!} \\ &= \sum_{n=k}^{\infty} \left( \sum_{l=0}^{n-k} \binom{n}{l} \langle 1 \rangle_{l,\lambda} \left[ \begin{matrix} n-l \\ k \end{matrix} \right]_{\lambda} \right) \frac{t^n}{n!}. \end{aligned} \quad (27)$$

Comparing the coefficients on both sides of (27), we obtain

$$\left[ \begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{1,\lambda} = \sum_{l=0}^{n-k} \binom{n}{l} \langle 1 \rangle_{l,\lambda} \left[ \begin{matrix} n-l \\ k \end{matrix} \right]_{\lambda}. \quad (28)$$

From (9) and (28), we note that

$$\begin{aligned} \langle 1+m\lambda \rangle_{n,\lambda} &= \sum_{k=0}^n \left[ \begin{matrix} n+1 \\ k+1 \end{matrix} \right]_{1,\lambda} m^k \lambda^k = \sum_{k=0}^n \sum_{l=0}^{n-k} \binom{n}{l} \langle 1 \rangle_{l,\lambda} \left[ \begin{matrix} n-l \\ k \end{matrix} \right]_{\lambda} m^k \lambda^k \\ &= \sum_{l=0}^n \left( \sum_{k=0}^{n-l} \left[ \begin{matrix} n-l \\ k \end{matrix} \right]_{\lambda} m^k \lambda^k \right) \binom{n}{l} \langle 1 \rangle_{l,\lambda} = \sum_{l=0}^n \binom{n}{l} \langle 1 \rangle_{l,\lambda} \langle m\lambda \rangle_{n-l,\lambda}. \end{aligned} \quad (29)$$

Therefore, by (29), we obtain the following theorem.

**Theorem 5.** For  $n \geq 0$ , we have

$$\langle 1+m\lambda \rangle_{n,\lambda} = \sum_{l=0}^n \binom{n}{l} \langle 1 \rangle_{l,\lambda} \langle m\lambda \rangle_{n-l,\lambda}.$$

We note that

$$\langle 1+m \rangle_n = \lim_{\lambda \rightarrow 1} \langle 1+m\lambda \rangle_{n,\lambda} = \sum_{l=0}^n \binom{n}{l} l! \langle m \rangle_{n-l}.$$

For any  $\alpha \in \mathbb{R}$ , we define the  $\lambda$ -shift operator  $\delta_{\lambda}^{\alpha}$  by

$$\delta_{\lambda}^{\alpha} f(x) = f(x + \lambda \alpha). \quad (30)$$

Then, we see that

$$\delta_{\lambda} x - x \delta_{\lambda} = \lambda \delta_{\lambda},$$

where  $\delta_{\lambda} = \delta_{\lambda}^1$ , and  $x$  denotes the “multiplication by  $x$ ” operator.

In the  $\lambda$ -shift algebra  $S_{\lambda}$ , a concrete representation is given by the operators  $a^{\dagger} \mapsto x$  and  $a \mapsto \delta_{\lambda}$ . From Theorems 1 and 3, we note that

$$\delta_{\lambda}^r x^s = (x + r\lambda)^s \delta_{\lambda}^r$$

and

$$(x \delta_{\lambda})^n = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda} x^k \delta_{\lambda}^n, \quad (n \geq 0). \quad (31)$$

Now, we observe from (30) and (31) that

$$(x\delta_\lambda)^n e^x = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^k \delta_\lambda^n e^x = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^k e^{(n\lambda+x)}. \quad (32)$$

By (8) and (32), we obtain

$$e^{-(n\lambda+x)}(x\delta_\lambda)^n e^x = \langle x \rangle_{n,\lambda} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^k. \quad (33)$$

In particular, for  $x = 1$ , we have (see (24))

$$e^{-(n\lambda+x)}(x\delta_\lambda)^n e^x|_{x=1} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda = (n)_\lambda!. \quad (34)$$

Therefore, by (33) and (34), we obtain the following theorem.

**Theorem 6.** For  $n \in \mathbb{N}$ , in  $S_\lambda$ , we have

$$e^{-(x+n\lambda)}(x\delta_\lambda)^n e^x = \langle x \rangle_{n,\lambda} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^k.$$

In particular, for  $x = 1$ , we obtain

$$e^{-(x+n\lambda)}(x\delta_\lambda)^n e^x|_{x=1} = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda = (n)_\lambda!.$$

From Theorem 6, we note that

$$e^{-(x+(m+n)\lambda)}(x\delta_\lambda)^{m+n} e^x|_{x=1} = (m+n)_\lambda!. \quad (35)$$

On the other hand, by (31), we obtain

$$\begin{aligned} (x\delta_\lambda)^{m+n} &= (x\delta_\lambda)^m (x\delta_\lambda)^n = \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^j \delta_\lambda^m x^k \delta_\lambda^n \\ &= \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^j (x + m\lambda)^k \delta_\lambda^{m+n}. \end{aligned} \quad (36)$$

From (36), we have

$$\begin{aligned} (x\delta_\lambda)^{m+n} e^x &= \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^j (x + m\lambda)^k \delta_\lambda^{m+n} e^x \\ &= \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^j (x + m\lambda)^k e^{x+(m+n)\lambda}. \end{aligned} \quad (37)$$

Thus, by (37), we obtain

$$e^{-(x+(m+n)\lambda)}(x\delta_\lambda)^{m+n} e^x = \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda x^j (x + m\lambda)^k. \quad (38)$$

From (35) and (38), we have

$$\begin{aligned} (m+n)_\lambda! &= e^{-(x+(m+n)\lambda)}(x\delta_\lambda)^{m+n} e^x|_{x=1} \\ &= \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_\lambda (1 + m\lambda)^k \\ &= \sum_{j=0}^m \begin{bmatrix} m \\ j \end{bmatrix}_\lambda \langle 1 + m\lambda \rangle_{n,\lambda}. \end{aligned} \quad (39)$$

By Theorem 5 and (39), we obtain

$$(m+n)_\lambda! = \sum_{j=0}^m \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \langle 1+m\lambda \rangle_{n,\lambda} = \sum_{j=0}^m \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \sum_{k=0}^n \binom{n}{k} \langle m\lambda \rangle_{n-k,\lambda} \langle 1 \rangle_{k,\lambda}. \quad (40)$$

Therefore, by (40), we obtain the following theorem.

**Theorem 7.** For  $m, n \geq 0$ , we have

$$(m+n)_\lambda! = \sum_{j=0}^m \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \langle 1+m\lambda \rangle_{n,\lambda} = \sum_{j=0}^m \sum_{k=0}^n \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \binom{n}{k} \langle m\lambda \rangle_{n-k,\lambda} \langle 1 \rangle_{k,\lambda}.$$

**Remark 8.** (a) Taking the limit as  $\lambda \rightarrow 1$ , we see from Theorem 7 that

$$(m+n)! = \lim_{\lambda \rightarrow 1} (m+n)_\lambda! = \sum_{j=0}^m \sum_{k=0}^n \left[ \begin{matrix} m \\ j \end{matrix} \right] \binom{n}{k} \langle m \rangle_{n-k} \langle 1 \rangle_k \quad (\text{see [19]}).$$

This was discovered by Mező in [19], which is dual to Spivey's identity (see [22,24,25]).

(b) As the identities in Theorem 7 are obviously symmetric in  $m$  and  $n$ , we obtain the following symmetric identities:

$$\begin{aligned} \sum_{j=0}^m \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \langle 1+m\lambda \rangle_{n,\lambda} &= \sum_{j=0}^n \left[ \begin{matrix} n \\ j \end{matrix} \right]_\lambda \langle 1+n\lambda \rangle_{m,\lambda}, \\ \sum_{j=0}^m \sum_{k=0}^n \left[ \begin{matrix} m \\ j \end{matrix} \right]_\lambda \binom{n}{k} \langle m\lambda \rangle_{n-k,\lambda} \langle 1 \rangle_{k,\lambda} &= \sum_{j=0}^n \sum_{k=0}^m \left[ \begin{matrix} n \\ j \end{matrix} \right]_\lambda \binom{m}{k} \langle n\lambda \rangle_{m-k,\lambda} \langle 1 \rangle_{k,\lambda}. \end{aligned}$$

### 3 Conclusion

In this article, as a  $\lambda$ -analogue of the shift algebra  $S$ , we introduced the  $\lambda$ -shift algebra  $S_\lambda$ , which is defined as the complex unital algebra generated by  $a$  and  $a^\dagger$  satisfying the following commutation relation:

$$aa^\dagger - a^\dagger a = \lambda a.$$

The unsigned  $\lambda$ -Stirling numbers of the first kind  $\left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda$  and the  $\lambda$ - $r$ -Stirling numbers of the first kind  $\left[ \begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda}$  were introduced, respectively, as a  $\lambda$ -analogue of the unsigned Stirling numbers of the first kind and a  $\lambda$ -analogue of the  $r$ -Stirling numbers of the first kind. We showed that those numbers appear as the coefficients in the following normal ordering results in  $S_\lambda$ :

$$(a^\dagger a)^n = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda (a^\dagger)^k a^n, \quad ((a^\dagger + r)a)^n = \sum_{k=0}^n \left[ \begin{matrix} n+r \\ k+r \end{matrix} \right]_{r,\lambda} (a^\dagger)^k a^n.$$

In addition, from those normal ordering results, we derived some properties about the unsigned  $\lambda$ -Stirling numbers of the first kind.

There are various methods that can be used to find some results on special numbers and polynomials. These include generating functions, combinatorial methods, umbral calculus,  $p$ -adic analysis, differential equations, analytic number theory, probability, statistics, operator theory, special functions, and mathematical physics.

It is one of our future projects to continue to explore various  $\lambda$ -analogues and degenerate versions of many special numbers and polynomials with these tools.

**Acknowledgements:** The authors would like to thank the reviewers for their valuable comments that helped improve the original manuscript in its present form. The authors also thank to Jangjeon Institute for Mathematical Science for the support of this research.



**Funding information:** Taekyun Kim was supported by the Research Grant of Kwangwoon University in 2023, and Hye Kyung Kim was supported by the Basic Science Research Program, the National Research Foundation of Korea (NRF-2021R1F1A1050151).

**Conflict of interest:** The authors declare no conflict of interest.

**Ethical approval and consent to participate:** The authors declare that there is no ethical problem in the production of this article.

**Consent for publication:** The authors want to publish this article in this journal.

**Data availability statement:** Not applicable.

## References

- [1] T. Kim and D. S. Kim, *Some identities on  $\lambda$ -analogues of  $r$ -Stirling numbers of the first kind*, Filomat **34** (2020), no. 2, 451–460.
- [2] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51–88.
- [3] L. Comtet, *Advanced Combinatorics. The Art of Finite and Infinite Expansions*, Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht, 1974.
- [4] R. L. Graham, D. E. Knuth, and O. Patashnik, *Concrete Mathematics. A Foundation for Computer Science*, 2nd edition, Addison-Wesley Publishing Company, Reading, MA, 1994.
- [5] S. Roman, *The umbral calculus*, *Pure and Applied Mathematics*, vol. 111, Academic Press, Inc. [Harcourt Brace Jovanovich Publishers], New York, 1984.
- [6] E. T. Whittaker and G. N. Watson, *A Course of Modern Analysis*. An introduction to the general theory of infinite processes and of analytic functions; with an account of the principal transcendental functions, Reprint of the fourth (1927) edition. Cambridge Mathematical Library. Cambridge University Press, Cambridge, 1996.
- [7] A. Z. Broder, *The  $r$ -Stirling numbers*, Discrete Math. **49** (1984), no. 3, 241–259, DOI: [https://doi.org/10.1016/0012-365X\(84\)90161-4](https://doi.org/10.1016/0012-365X(84)90161-4).
- [8] P. Blasiak and P. Flajolet, *Combinatorial models of creation-annihilation*, Sem. Lothar. Combin. **65** (2010/12), Art. B65c, 78 pp.
- [9] A. Boukas, *Stochastic control of operator-valued processes in boson Fock space*, Russian J. Math. Phys. **4** (1996), no. 2, 139–150.
- [10] J. Katriel, *Combinatorial aspects of boson algebra*, Lettere al Nuovo Ciment, **10** (1974), 565–567, DOI: <https://doi.org/10.1007/BF02784783>.
- [11] J. Katriel, *On a generalized recurrence for Bell numbers*, J. Integer Seq. **11** (2008), no. 3, Article no. 08.3.8, 4 pp.
- [12] J. Katriel, *Bell numbers and coherent states*, Physics Letters A **273** (2000), no. 3, 159–161, DOI: [https://doi.org/10.1016/S0375-9601\(00\)00488-6](https://doi.org/10.1016/S0375-9601(00)00488-6).
- [13] V. V. Kucherenko and V. P. Maslov, *Reduction of the quadratic Bose operator to normal form*, Dokl. Akad. Nauk **350** (1996), no. 2, 162–165.
- [14] T. Kim and D. S. Kim, *Some Identities on Degenerate  $r$ -Stirling Numbers via Boson Operators*, Russ. J. Math. Phys. **29** (2022), no. 4, 508–517, DOI: <https://doi.org/10.1134/S1061920822040094>.
- [15] T. Kim and D. S. Kim, *Degenerate  $r$ -Whitney numbers and degenerate  $r$ -Dowling polynomials via boson operators*, Adv. Appl. Math. **140** (2022), Paper no. 102394, 21 pp, DOI: <https://doi.org/10.1016/j.aam.2022>.
- [16] T. Kim, D. S. Kim, and H. K. Kim, *Normal ordering of degenerate integral powers of number operator and its applications*, Appl. Math. Sci. Eng. **30** (2022), no. 1, 440–447, DOI: <https://doi.org/10.1080/27690911.2022.2083120>.
- [17] T. Kim, D. S. Kim, and H. K. Kim, *Degenerate  $r$ -Bell polynomials arising from degenerate normal ordering*, J. Math. **2022** (2022), Art. ID 2626249, 6 pp, DOI: <https://doi.org/10.1155/2022/2626249>.
- [18] T. Kim and D. S. Kim, *Some identities involving degenerate Stirling numbers associated with several degenerate polynomials and numbers*, Russ. J. Math. Phys. **30** (2023), no. 1, 62–75, DOI: <https://doi.org/10.1134/S1061920823010041>.
- [19] I. Mezö, *The dual of Spivey's Bell number formula*, J. Integer Seq. **15** (2012), no. 2, Article no. 12.2.4, 5 pp.
- [20] A. M. Navon, *Combinatorics and fermion algebra*, Nuovo Cimento **16B** (1973), 324–330, DOI: <https://doi.org/10.1007/BF02828687>.
- [21] A. Perelomov, *Generalized coherent states and their applications*, Texts and Monographs in Physics, Springer-Verlag, Berlin, 1986.

- [22] M. Schork, *Normal ordering in the shift algebra and dual of Spivey's identity*, Quaest. Math. **46** (2023), no. 1, 173–180, DOI: <https://doi.org/10.2989/16073606.2021.2012722>.
- [23] A. Varvak, *Rook numbers and the normal ordering problem*, J. Combin. Theory Ser. A **112** (2005), no. 2, 292–307, DOI: <https://doi.org/10.1016/j.jcta.2005.07.012>.
- [24] M. Z. Spivey, *A generalized recurrence for Bell numbers*, J. Integer Seq. **11** (2008), no. 2, Article no. 08.2.5, 3 pp.
- [25] D. S. Kim, T. Kim, J. Kwon, S.-H. Lee, and S. Park, *On  $\lambda$ -linear functionals arising from  $p$ -adic integrals on  $\mathbb{Z}_p$* , Adv. Difference Equ. **2021** (2021), Paper No. 479, 12 pp, DOI: <https://doi.org/10.1186/s13662-021-03634-z>.